0"own ,17°K-12 NYIDIIN 707377 AT Apvann 83116

mx12APs 0N — 19990

2M1101 MR Mavvmn VR, A = {1,2,a,{1,2}} °nn .

{{12}}eP(A) .7 {1} eA X
{{1,2}} € P(A) 1 (12} A a
IA|=5 .1 {la}e A 3

IP(A)l = 16 .7 {l,a} e P(A) .7

MoIRy /01 .

({1,2,3}} €{{1,23,4,5}} .7 (@} eP({1}) X
{1L23N\P({1,2,3})#@ .n {{1}} e P(P({1})).2
(IS P{L{1}}) 1 IP(PPEP@)))) =8 3

awen . A={1,3,5) ,B={23.4,5,8} ,U={1,2,3,456,7,8} 7 .

(U\B)\A .1 AMB X
U\(B\A) .3 AUB 2
B\AUU\B .1 B9\ A
AAB .1 AC\BC 7

27121 MIR2T NMAYLTA AR, A,B mx1ap1 U %0200 axiap nnl .

PAYSPB)IRAS=Bar X
ACTB I ACBox .2

ASB 1x AB=@ox .3
AAB=BW®B=U1A=0ox .7

:MIR2T MNP YW APIAN DX DX Awn .

A={{{1}}}
B={0.{0}} 2
C=P({1,2})



